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ABSTRACT. In this short paper i presented a simple mathemati-
cal model that can be solution to quantum gravity problem. It
uses connection as mathematical model and spin field matrix that
represents possible particles.
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1. BASIC IDEAS

I will assume all units are Planck units [1]. From it comes that speed
of light is equal to one, I take one unit of space and divide it by one unit
of time so I get speed of light equal to one, this holds for all composite
units. I can have any number as unit of space and time as long as they
both can be written in form n/m where n, m are natural number and
n is less or equal to m- so it do not have to be speed only as natural
number of space units divided by time units. But distance between
two particles or their interaction length can’t be less than one unit of
space or time and it always has to be natural number. Goal of quantum
gravity is to explain how gravity works on level of elementary particles,
here idea is that first i write everything in Planck units, then second i
use quantized this way field. Field i will use here is spin number field
that takes spin number. I can define antimatter [2] states for sigma
states with bar over that states as just normal state but with negative:

og=—0 (1.1)
Now i have defined base units and field i will be working with i can
move to define equation of motion that govern field. Those equation are
second postulate first is quantization of units second is that field does
obey field equation. Speed of light limit here does not imply and there
are no Lorentz transformation. I will be using as mathematical model
connections that are fully define in section field equation. From spin
field matrix I can get all Standard Model particles and graviton i don’t
present other particles that can be create out of spin field matrix.
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2. FIELD EQUATION

Equation of movement in field is second postulate and to create them
i need to introduce mathematical objects of field that are connections
of field, first i define connection itself for position that can have sixteen
direction. I can write that position as x*” where u, v represent direction

- first and second one. For now i can write connection field F'*¥ as:

Fr (xh) — Fuw (T + o)
Fr () = Frv (xhv) = v () (2.1)
Ful/ (i,,u,l/ + I.;M/) = gHv (j;l“/ + x;uz)

So it means i take a point of field and move it to another point where
one point have one value another one has another- it points in direction
but it does not have direction like vectors have. Second thing is that
connection of field are not quantum objects- in quantum mechanics i
need to have probability number for each possible state. I will use new
object that uses connection field i will call it ¥$ and its equal to:

Z vy = Z Jpexs P (@) dar g (4 0007 (22)
" +o0o ) .
>op Jpexs I (a1 dx o

Where i added two new objects, first one is spin field covariant pseudo
tensor o, that gives each direction os spin number and energy con-
travariant pseudo tensor 7?. But both of them don’t have indexes as
field puv but indexes af those new indexes are rotated in space indexes
that i can write for each element of connection field as:

2 2RZ‘(55$"” + 5&3%#’/ (2.3)

OasT™ = 5555gaWRg55TW + 55555%5;;3%“” (2.4)

Where i use rotation operators of normal three dimensions [3] space
with no rotation in time direction. In field equation for object \IJ%’B I
used integral over whole space X* that represents each possible time
direction and all possible vectors that can be rotated in space so it
generates sphere as space. That equation tells that probability of each
path of a field is equal to integral over that path P divided by sum of
all integrals over all possible paths. Those equation lack only spin to be
complete. I can write rotation angle change for each part of connection
field as equal to its value where it does have a base rotation angle but
its not affected in change of it:

A0 =270, TH (2.5)
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3. ENERGY AND SIMPLEST SOLUTIONS

Energy is a scalar, and i can write simple relation between scalar

energy and scalar spin number and its tensor parts:
oF =o0,T" (3.1)

This relation has to be fulfilled. Now i can move to simplest solution
for gravity [4] system only, i will use energy written as 2 where M is
mass and r is radius, all its written in Planck units so i can write it in
normal units as %—}i}; where subscript P means Planck unit. Graviton
has spin two so i have to multiply it by two so i get % i can write now
energy relation as:
2M1 2M
g P = — = O'MVTMV (32)

mpr r
Now i can assume that it does not move in time only in radius direction
so 1 get:

oF

2M
r
0= O'ttTtt = O'tTTtT = O'TtTrt (34)
It’s easy to see that when i have a photon at event horizon of a black
hole it will move foward in time but not move in space so this model
predicts correctly for a black hole an event horizon. I can write a state
of photon that was emitted to move outside the horizon as:

G AL (g

So that photon does not move outside the horizon if it was emitted
at some angle it will eventually fall to singularity. Limit of distance
between two objects is one it’s one Planck length so when i get a photon
reach that distance gravity has to repel that photon so it goes back to
event horizon and stays- its simplest model of singularity. I can write
that state as:

R R A AT

Where now photon moves first towards the singularity so that’s why
i have minus sign at rr component. When it goes to event horizon
graviton acts on it so it stay at event horizon.

Rt ot R R A

=0, T (3.3)
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4. SPIN FIELD MATRIX

Spin field can be thought as sum of matrix elements. There are two
basics states of energy that can describe any system, first one says that
zero energy state is equal to zero Ey = 0 so system is massless. Second
one says that energy levels are not equal- so system does evolve and
have many possible energy states E,, # FE,_1... # Fy. I can write those
as states of matrix that has all possible combination of those:

—|'811 +812
—S821 +822

Spm = 4.1
+531 —S32 (4.1)
—S841 —S42

Where each component of that matrix can have value equal to zero,
one or minus one. Sum of those matrix elements is equal to spin state

number:
1
52 Sm=0 (4.2)

If i have a minus sign of symmetry it means its not fulfilled so the
opposite is true, energy zero state is not equal to zero, all energy states
are equal. Each elementary particle can be thought as state of that
matrix. For example i can write photon and graviton [5] as:

11 11

. ool 4 |00

$=1o ol Se=1o ¢ (4.3)
00 11

And for each particle there is anti-particle that has opposite state and
moves backwards in time compared to normal particle moving foward
in time. So for photon and graviton those anti-particles are:

-1 -1 -1 -1

! 0 0| & 0 0

S=10 ol Se=1o o (4.4)
0 0 ~1 -1

So anti-photons have mass and only one energy state. Same with anti-
gravitons, they have mass and one energy state. But this picture still
lacks interaction and energy of that field. I need to define how those
states interact. Before i move to it i can write anti-matter state as
opposite state of sum of spin field matrix:

7= —%ZSW (4.5)
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5. SPIN FIELD INTERACTIONS

Spin field interactions are just spin matrix elements divided by length
of interaction. That is energy of interaction so i get equality between
energy and spin and sum of those matrix elements:
1 Shm

E_
4 Ax

(5.1)

n,m
Now for many systems i need to sum each system energy state and
their interaction terms. Let’s say i have k systems i can write their
interaction terms as:

; or By = Z nz An;n;z (5.2)

First number k says what system mteracts and second number [ with
what it does. Self interaction terms where k = [ are just particles itself.
But energy tensor is a tensor so when use summation [6] of it with spin
pseudo tensor [7] it is equal to those scalar part created out of spin
matrix:

1 Shm
Ax

oI =oF = (5.3)
For many systems i just sum all interaction terms for all particle

interaction:
Z oy = Z ol = Z Z An;n:ll (5.4)

Energy has to be conserved so here it Wlll mamfest that derivative
in each direction of sum of all particle interaction is equal to zero-
where that derivative has time component and three space components
05 = Zgzo 8%5 (so its not only space components) and field equation
for many systems :

L 1 Snm
850',“,’1—'” = 850'E = 85— Am =0 (55)
s Z ouwkily = 05 Z oLy = 85— Z Z Anz:ll = (5.6)
ol ol nm

fPeX4 Frr (Zk ! xkz ) dz?
Suy =% FPAN " apl + oapn Ty
P P ZP fpex4 Fy (Zk ! xkl ) dxy k,l

(5.7)
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6. MEASUREMENT

Measurement is key idea in all physics- in quantum physics measure-
ment [8] change state of wave function from all possible states to one
state. Now i can write it all i have wave spin field before measurement
and after measurement , where before measurement i sum all paths P
after measurement all paths reduce to one path:

aff fPeX‘l (x/ﬂ/) dz? af af af
pr - Z St (+°7 + 00sT)  (6.1)

s Do PP () 0
Jpexs F* (@) da”

Now for spin i can have two possible outcomes- positive rotation angle
and negative rotation angle that depend on spin matrix state. If term
o,/ T* is positive so is rotation angle if its negative so is rotation angle.
For many particle systems it gets a bit more complex. So for many
particle bosons I can write before spin measurement and after, where
N is number of all states:

fPeX4 £ (Zk,l ley) dx

FoP (maﬁ + JagT“fj) (6.2)

Z Z FBﬂ...Bn Zx%ﬁ + Uaﬂlelszﬁ
N B=—01 B=-on fPeX4 Fry (Zkl xgly) v k.l
(6.3)
i) Frv <Z xh ) dz”
Pex1 kel Lkl
F31 Bn Zxkl +Uoc,8lekl (6.4)

Jpexs B <Zk: 1 T > dx” kel

Where B;..B,, after measurement represents one possible state for each
particle not sum of all states. Now for fermions [9] I can do same where
I sum over states that are not integers, so for example if i have only one
half spin number i will sum two states minus one half and plus one half:

c1¢Z onéZ f P (Z xul/) dr
1 PeXx4 K Lkl N N N
N Z Z € F IBMFn Zxklﬁ + O—aﬁleklﬂ
Fi=—01¢Z  Fo=—on¢Z fpex4 iy (Zk L T ) dx? kil
(6.5)
fPeX4 (Zk I Thy )
> _ai + ey’ | (6.6)

B
Fel ok
Jpexs F* <Zk L Thi ) dx? k.l
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7. ELEMENTARY PARTICLES

From spin field matrix I can recover all Standard Model [10] particles
and others not predicted by it. First i will list all particles of Standard
Model in matter form.

-1 +1 1 -1 +1 -1
o |0 0 o |0 o0 N |
H'= |, | =10 0 Ll (7.1)
—1 +1 41 -1 +1 0
+1 +1 +1 +1 +1 0
0 0 0 0 0 0
—1 +1 41 -1 +1 0
0 0 0 0 [0 0]
-1 4 N R N I
=01 o * T l=1 ol T Tl+1 o0 (7.3)
0 0 0 0 (0 0|
1 0 (11 0] 1 0]
-1 41 -1 -1 41 -1
U= 0 0 c= 0 0 t= 0 0 (7.4)
0 0 |0 0| [0 0]
[—1 0 [+1 0] [—1 0]
-1 0 -1 0 |+ 0
d=1q | =0 1| =0 -1 (7.5)
0 0 [0 0| 0 0|
—1 +1 +1 -1 1 -1
0 0 0 0 0 0
ve= 1, 0 w= 1 0 =1 0 (7.6)
-1 0 ~1 0 +1 0
+1 +1 +1 +1
0 0 0 0
=10 o G = 0 0 (7.7)
0 0 +1 +1

Where additional particle here is graviton. Electric charge does work
for spin matrix elements so1, S92, S31, 32 and its 2/3 for same row entries
and 1/3 for row/column mix- where i count each pair as equal to 2/3
or 1/3 charge and it does not matter do they sum to minus two or zero
or plus two. If there are mix elements charge is negative is there are
only row elements it’s positive.
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